Rolling Slowdown Calculations
Known:
T = Time needed with no traffic (in minutes) 
Vs = Speed of slowdown vehicles (in MPH) 20 MPH minimum recommended.
Vc= Speed of chaser vehicle in front of slowdown (in MPH) generally it should be the posted speed.
Calculations:
G = Gap needed (in miles)
	G = T (Vs/60)
C = Clearance time needed to create the gap (in minutes)
	C = G / (Vc/60 – Vs/60)		
D = Distance ahead of the work area to start the slowdown (in miles)
	D = C (Vc/60)

Example:
You need a 5 minute gap on a 60 MPH freeway to cross a large piece of equipment into the median work area, so you propose a 20 MPH rolling slowdown during the off-peak or lowest traffic volume hours for the freeway.
 G = 5 (20/60) = 1.67 miles
 C = 1.67 / (60-20/60) = 2.5 minutes
 D = 2.5 (60/60) 2.5 miles 

Links:
For WSDOT contracts see Standard Specification 1-10.3(2)B 
For WSDOT maintenance see the M54-44 Chapter 6 (pages 6-09 to 6-11)

